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INSTRUCTIONS
Answer all gquestions.
All questions carry equal marks.
Only one answer is to be given for each question.
If more than one answers arc marked, it would be treated as wrong answer.
Each question has four alternative responses marked serially as 1, 2, 3, 4. You have 1o darken only onc circle
or bubble indicating the correct answer on the Answer Sheet using BLUE BALL POINT PEN.
1/3 part of the mark(s) of each question will be deducted for each wrong answer. (A Wrong answer means
an incorrect answer or morc than one answers for any question. Leaving all the relevant circles or bubbles of
any question blank will not be considered as wrong answer.)
The candidate should ensure that Series Code of the Question Paper Booklet and Answer Sheet must be same
after opening the envelopes. In case they are different, a candidate must obtain another question paper of the
same series. Candidate himself shall be responsible [or ensuring this.
Mobile Phone or any other clectronic gadget in the examination hall is strictly prohibited. A candidate found
with any of such cbjectionable material with him/her will be strictly dealt as per rules.
Please cirrectly fill your Roll Number in O.M.R. Sheet. § marks will be deducted for filling wrong or
incomplete Roll Number.

. If there is any sort of ambiguily/mistake either of printing or factual nature then out of Hindi and English

Version of the question, the English Version will be treated as standard.

Warning :1f a candidate is found copying or if any unauthorised material is found in histher possession, F.LER.
would be lodged against him/her in the Police Station and he/she would fiable to be prosccuted under
Section 3 of the R.PE. (Prevention of Unfairmeans) Act, 1992, Commission may also debar hiny
her permanerily [rom all future examinations of the Commission.
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1 Which type of clay in used as drilling mud ?

(1) China clay (2) Fuller's Earth

(3) Bentonite clay (4) Fire clay

Preffas F & 91 & gRw B ST Juie % w7 F Rear o ¥ 7
(1) =T @) pod o

(3) T @) HER

2 Which of the following is different from others in composition ?

(1) Mars (2) Mercury
(3) Satum (4) Venus
frrafafea & @ & W wg o ¥ @ [ dued A R ¥ ?
(1) ¥ @ 9=
() ot “) o=
3 The layer just below the lithosphere is kKnown as .....ceeveeens

(1) Low velocity zone
(2) Gutenberg discontinuity
(3) The zone of deep-seated Earthquakes

(4) Inversion zone

e (M) ¥ die N9 Rea wwa & g w9 e & °
() = 4w &= () TRNET eEE
(3) B YHW B & (4) dwH &R

4  Which of the following geological processes has resulted in formation of
Precambrian Banded Iron Ore deposits in India ?

(1) Sedimentation (2) Hydrothermal activity

(3) Supergene enrichment (4) Magmatic concentration

TR H T S T JUSEET BIN $ TZIRR @iE i o satt g @
Yo WiedT BT g ¥ 7

(1) SE9ET (2) @A Tarty
() YuwT "= 4) TE gigw
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5 New ocean floor is created at .....ceveeee
(1) Deep Sea Trenches (2) Subduction Zones
(3) Mid Oceanic Ridges (4) Island Arcs

T gl gl @1 o wef s ¥ 7
(1) T g wE & A (2) wosH A §
() W gl weF &7 H @) Zu-=m &3

6 Iceland can be cited as an example of -

{1) Oceanic Trench {2) Subduction Zone
(3) Ocean Island (4) Mid Oceanic Ridge
agads P ¥ ¥ Rege sae ¥ 7

(1) wemriE @5 (2) wESEHME &

(3) WEErE AW (4) TH-TEMIR ®EH

7 Which of the following represents secondary structures in sedimentary

rocks 7

(1) Burrows (2) Cross bedding

(3) Concretions (4) Ripple Marks

frer & 4 we-w orEEdl It ¥ fadae @em qutar ¥ 7
(1 f @ ol wwww

(3) TUEN (4) i fue

8 Gypsum and anhydrite are formed under which sedimentary environment ?

(1) Euxinic facies (2) Black shale facies
(3) Mollase facies (4) Evaporitic facies
ey Ud TTEEgEe ReY omEdl AiERe § Sa o & 7
(1) et dween (2) PO W GwEn

@) wheE dwel (4) TSI GEern
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9  Which of the following statements is correct for reverse faults ?
(1) The Foot Wall moves up relative to the Hanging Wall
(2) There is no component of vertical movement
(3) The Hanging Wall moves up relative to Foot Wall
(4) The Hanging Wall moves down relative to Foot Wall
Frafoflen & 4 @w-—m w7 dm Yo F daef F et ¥ 2
(1) emuRiME suiffa & def 9 o &t @R fags S 2
(2) 39 TR fow ¥ @ vy T
(3) Suitti smarfia & ded & Suw &1 ot Raus s ¥4
(4) Uity ey & 9 ¥ SR @1 sk faws s ¥

10 If both the limbs of a fold dip in the same direction and the axial plane is
inclined, the fold can be called as -

(1) Monoclinal fold (2) Chevron fold
(3) Reclined fold (4) Isoclinal fold

gfy fpdt aa & AT gond e & Rew ¥ wfy ¥ qan aeed aw Wy R
T F, @ VR TEH b @ed § —

(1) u&HIRkes @ (2) THE I

(3) - SEAd gwT (4) Al gaT

11 In which type of folding the thickness of beds remains constant ?
(1) Similar (2) Concentric
(3) Parallel (4) Cylindrical
Frefefed & @ P 90T ¥ A B el auE adr ¥ ¢

(1) 9T T (2) GHdl g

(3) WHEIET TE (4) SEEER FEH

04 _A] 4 [Contd...
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In a 1:50,000 scale topographic map a distance of 0.25 cm represents -

(1) 1250m (2) 250m
() 125m (4) 500m
T 150,000 T I et ¥ 0.25 AW B g awaw # Rear gl ?
(1) 1250 . (2) 2509
(3) 1257 (4) 500 9.

India is an exporter of -

(1) Copper Ore (2) Lead-Zinc Ore
(3) TIron Ore {(4) Rock Phosphate
v Prefatad § @ Rewen Prald sxan & 7

(1) I T (2) HH-E 3T

(3) T o 4) THHERE

Which of the following rocks are present in the Marwar Supergroup of
Rajasthan 7

(1) Sandstone - Basalt - Mudstone

(2) Phyllite - Graywacke - Dolomitic limestone
(3) Sandstone - Banded gneiss - Marble

(4) Sandstone - Mudstone - Limestone

frfafad & ¥ B980T ToRIE F AIRATS Wl WE H UK TN Al qge
 q9h & ?

(1) TEHT - e — TS
(2) WEAEE - 9% — SWMERE Tl TR
(3) AT — WERR W — TR

(4) BT — TSR — AT TR

04_A] 3 [Contd...




15  Which of the following is known as a High Field Strength Element in
geochemistry ?

(1) Zirconium (2) Barium

(3) Strontium (4) Rubidium

frafafea & @ @sF-—ar -—wamate dof ¥ s 8 sfe o % w0 § s
iGN

(1) W 2y AfEm

(3) wifEm (4) wdifem

16  Which of the following mineral pairs does not represent polymorphism ?
(1) Calcite - Aragonite (2) Rutile - Brookite
(3) Albite - Anorthite (4) Graphite - Diamond
Prefirfias & ¥ P wh W A T i k7
(1) FeERT — NS (2) &R — gHRe
() TEEE - AR @ dwmz - W

17 Which of ihe following represents the stratigraphic units with decreasing age ?

(1) Bhilwara Supergroup
Marwar Supergroup

Aravalli Supergroup - Delhi Supergroup

(2) Bhilwara Supergroup
Marwar Supergroup

Delhi Supergroup - Aravalli Supergroup

(3) Bhilwara Supergroup
Aravalli Supergroup

Dethi Supergroup - Marwar Supergroup

(4) Bhilwara Supergroup
Aravalli Supergroup

frfaiaa & & - g ggl ol Ted oy % wa @ qytar ¥ ?
(1) SRt TeRE - e wewE - Rl e - AR wewe
(2) e HewEgE - R wETwrE - sEd wEEE - ARAR HeEE
(3) et HewEE - Reel WERTE - WA TeEE - SRE HREE
(4) ST WEREE — ATCns wewdE — Rl ey - e s

Marwar Supergroup - Dethi Supergroup

04 _A] 6 [Contd...
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The Aravalli mountain are predominantly constituted by the rocks of -
(1) Aravalli Supergroup (2) Bhilwara Supergroup

(3) Malani Igneous Suite (4) Delhi Supergroup

e TEa e ¥ ger &9 ¥ Fritifea ¥ ¥ few W @ g
W & ?

(1) SqaEe TRETE (2) WTETS HEEE

(3) W AT R (4) fawe mewrlE

The oldest dated rock from so far of Rajasthan, is a -

(1) Dolerite (2) Conglomerate

(3) Gneiss (4) Quartzite

TR W TEE yraE g freiia acem fratwies § € SRR T 7
(1) Iee @ s

(3 e (=) 4) AT

Which of the following stratigraphic units is not present in Rajasthan ?

(1) Triassic (2) Jurassic
(3) Cretaceous (4) Eocene
frafifieg & & @9 G 18 ToRIE ¥ T8 9 S g 7
(1) Tl 2) aiw
() ferefirmmm (4) g

Which of the following is a mis-match ?

(1) Gibbsite (2) Diaspore
(3) Halite (4) Bohmite
Prrffaa ¥ A S e af=md ?

(1) foege 2) =EER
(3) wEwEE (4) deHEE

04 _A] 7 [Contd...
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Monazite and Ilmenite deposits of west coast of India are formed by which
of the following processes ?

(1) Hydrothermal (2) Wind erosion

(3) Residual concentration (4) Magmatic concentration

WA % T¥AH 92 W U WM O HiNEE 9 seee Mag Prafafag i
g upm @ ¥ 7

(1) e Thitafy (2) YT SUET
(3) oy gy 4) T gigw

The most significant discovery of gold from Rajasthan in the recent years
is from -

(1) South Sindesar (2) Bhukia

(3) Banwas Block (4) Rohil

fredt o ot & Towaw ¥ w9 wg@ @ e @ ae we A T S 7
(1) <Rl e (@) e

(3) Qa9 TS @) =

Which of the following elemental pairs does not represent a natural
association ?

(1) ZrHf (2) Ca-Sr
(3) Mg-Ni (4) Rb-Sr
Frtoflas & o SF-91 9@ %1 Uikl g A8 ¥ 7
(1) ZeHf (2) Ca-Sr

(3) Mg-Ni (4) Rb-Sr

04_A] 8 [Contd...
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What is the name of permanent Indian Station in East Antarctica ?

(1) Dakshin Gangotri (2) Maitri

(3) Bharti (4) All the above
Tdl sierdhied ¥ Rad WA % @E FE @ o AW ¥ 7
(1) =Raor T (2) W

(3) R (4) SulE g9

Twinning observed in plagioclase is known as -

(1) Polysynthetic twinning (2) Carlsbad twinning

(3) Penetration twinning (4) None of the above
AN ¥ T SR W a9 B FEd &

(1) uUales gaed (2) SR IHAT

(3) WA THEA (4) SUEd N ¥ @iz 18

A limestone bed dips at an angle of 45° in NE direction. The dip of the bed

when measured in the direction of the strike of the bed will be -

(1) 45° (2) 60°

(3) 900 @ o°

T AT YT HEIT 45° TR S-g9 @ oY A HIa §1 41 39 W
Afy wfoers Ren & Ardy s O I@HT A B -

(1) 45° (2) 60°

(3) 90° @) 00

Which of the following minerals can be used for determining the age of the
Vindhyan Sandstone ?

(1) Pitchbland (2) Monazite

(3) Glauconite (4) lmenite

Prefiflas ¥ @ #m-w1 we @i, e sgene & oy frafo & fag
TgE e woEma € 2

(1) P | @ T

(3) TG 4) T

04 _A] 9 [Contd...



29 Match items from List-1 and List-1I and select the correct answer using the
code given below :

List-I List-II
(A) Oligoclase 0 Auzg— Aug
(B) Labradorite () Auyg- Aug,
(C) Andesine () Ausg— Auygg
(D) Bytownite (AV) Augy - Aujgy

(V) Augg— Augg

Code :

A B © O
1 v @O ) av)
@ @ O av &
Gy (v 4 @ av
@ @ {am @ V)
g1 @t gE-1 d gated Sy, o giual & e R & g2 =1 wm a3
el sUY g

- Q-1
(A) Snferiaw @D Augy - Aug
(B) ws=iige (M)  Auyy -~ Augg
(C) ufefm () Auggy - Augg
(D) WEERe (IV) Augy - Auygg

(V) Auqgg - Aug,

CTAE

A) ®) © D)
@ M O ) av
@ @ O avym
G) (V) am @M av)
@) (p am @ V)

04_A] 10 [Contd...
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Which of the following is the correct hierarchial order of lithostratigraphic
units ?

(1) Group - Formation - Member - Bed

(2) Formation - Group - Bed - Member

(3) Bed - Member - Formation - Group

(4) Group - Member - Formation - Bed

frefRed §  @F-a1 T N9 Wikd Thh B T8 TETIHHG T &7
(1) d - 9 T - ged o 9=

(@) 9 9 - 99 - §ER &R gae

() WX - weE - W ¥ ok w"

) ¥ - vew - W T iR &l

Which of the following type of seismic waves arrives first at the seismic
station from an earthquake hypocenter ?

(1) P-waves (2) S-waves
(3) Rayleigh waves (4) Love waves

frraferfan §f @ @ € Yol 90T ¥ § U a0 SEE-5E (R9F) W 959
ST bE ¥ TEWUH Ugadl &7

() P @) Sad

(3) I aT (4) wa T

What is the colour of a healthy vegetation in a false colour Infra-red positive
print ?

(1) Light Green (2) Dark Green

(3) Blue (4) Red

el T e uiies B (BrE) ¥ W awafy &1 o1 w0 R ?
(1) @& &0 (2) A

(3) 4) <

04_A] 11 {Contd...
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Which of the following is an example of Diamorphism ?

(1)  Nummulites (2) Discocyclina
(3) Textularia (4) Rotalia
frefefad o & s @ famear &1 S ¥ 2
(1)  FHaERY Q) IfewmrmgiT
3) gaRar (@)

Which of the following is NOT a suitable method for dating Precambrian
rocks ?

(1) 'C dating (2) Rb-Sr dating

(3) Sm-Nd dating (4) U-Pb dating

freieien & @ SN-d1 uw Wk vt fafy, Sheaw o S« &
HATHIRO % T Iuges T8 ¥?

(1) HC it (2) Rb-Srfafr

(3) Sm-Nd fafy 4) U-Pb fafy

Which of the following condition is true for Norite ?

(1) OPX > CPX (2) OPX< CPX

(3) OPX =CPX (4) OPX is absent

AR 9w ¥ Freaffed § @ - ue wd Rafy & ¢

() ST >T RN (2 A NTEm<@ G o
() stdiwm=wdiT@@ (@) oW o amaiea

Which of the following can provide best information about the source rocks
of a sandstone 7

(1) Palaeocurrent Analysis (2). Grain size

(3) Lithic fragments (4) Weathering Index
TEHEH & T % a0 N T A B gl gue daw ¥ 7
(1) gRmHE fysawer (2) v AT

(3) oRig®s @vs (4) SIvEET gAwHich

04_A] 12 [Contd...
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Which of the following mineral sequences depicts the increasing metamorphic
grade of pelitic rocks ?

(1) Biotite - kyanite - garnet - staurolite - chlorite
(2) Chlorite - garnet - biotite - staurolite - kyanite
(3) Chlorite - biotite - garnet - staurolite - kyanite
(4) Garnet - biotite - chlorite - kyanite - staurolite

gfteera SIaETEl % Fg9 BEGY w9 B T N F BE-9 T Ei B
EEH T

(1) WRERE — HYAEE — THE — WRIAET ~ FAES
(2) FTREZ - THZ — TEREE — BAEE - HETEE
3) FNEE - TEREE — T — WRNEE ~ FETE
4) WY - TEREEE — FTRES — HEARE — ©WEE

Which of the following represents the correct order of density of crust -
mantle - core and bulk earth respectively (in gm/cm?)

(1) 2.8—4.5-11.0-5.5 (2) 2.8-55-1L0- 4.5
(3) 2.8 -11.0- 5.5 — 4.5 (4) 2.8-4.5-55-110

iy — A — e T @ gl & T (9 Wi w A #) & W wA
It P d R w@ ¥ 7

(1) 2.8-4.5-11.0-5.5 () 2.8 - 55— 110 — 4.5
(3) 2.8-11.0-55—-4.5 (4) 2.8-45-55-110

Which of the following is a compound coral ?

(1) Calceola (2) Zaphrentis
() Montlivaltia (4) Isastrea
Prafifag ¥ ¥ BF-a1 Tw dgE vaw &7

(1) Fewarr (2) ey
(3)  fecfiarcer 4) swRzar

04_A] 13 [Contd...




40 What is a tektite 7

(1) Glassy meteorite (2) Sedimentary rock

(3) Metamorphic rock (4) Tectonically deformed rock
THREET T &7

(1) =g Swnrts 2) o W

(3) R fw (@) foadfe: fele dw

41  Which of the following is a plate boundary as well as Strike-slip fault ?
(1) Himalayan Frontal Fault (2) Great Boundary Fauit

(3) Great Glen Fault (4) San Andreas Fault

Frafflae o ¥ @F-W e W 9 9wy § Atk ot g9y ¥7
(1) TeoeR omr ot (2) vgE-dm 99

(3) TgE—T €A @) w9F-uzEg Hy

42  To be classified as 'laminae’ the thickness of the layer should be

(1) <1lem 2) 1-5cm

(3) 5-10 cm (4) > 10 cm
(1) <1 @&H (2) 1-5 &
(3) 5-10 §W 4) > 10 9%

43  Which of the following variety of limestone is entirely composed of organic

detritus ?

(1) Coquina (2) Encrinite

(3)  Spergenite 4)  Oolite

Frafeies 9 ) ¥ § o-w w pf w7 @ e way § o A 7
(1) = @) shemge

(3) wWoEe 4) sisHE (3wmge)

04_A] 14 [Contd...
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Fine-grained sandstone has which of the following properties in comparison
with clay ?

(1) Higher porosity and lower permeability

(2) Higher porosity and higher permeability

(3) Lower porosity and lower permeability

(4) Lower porosity and higher permeability

TR &t gorn § g @i are-wert # Feakitad § & - fems
B %7

(1) geiyen 3 TF arorgal w9 ¥

(2) geAduan TE rerRan e it ¥

(3) Qe T IR @ &H B ®

(@) GEEHA FY TE Ot S e ¥

'Ediacaran Fossils are useful in determining ......c..... |
(1) Archaean/Proterozoic boundary

(2) Precambrian/Cambrian boundary

(3) Permian/Triassic boundary

(4) Cretaceous-Tertiary boundary

frtafad ¥ ¥ SF-9 9 @ Frafer CoRamra S’ ¥ W 20
(1) ST HEheq/aTsia Heided WAl

@) yd HsmiaaT T @

(3) uftiE/zmEtn W

(@) whefimE/estl dm

in which one of the following formation of Rajasthan good quantity of grow
water is reported ?

(1) Sanu Sandstone (2) Gotan Limestone

(3) Lathi Sandstone (4) Mandai Sandstone

Prefifa 3 & A8 TF I WE § W b o e TR W T 7
(1) | =g, T (2) T A1 weR

(3) R W, W @) v TR WX

04 A] 15 [Contd...
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'Smith's test' is performed to determine which of the following properties of
building stone ?

(1) Durability (2) Frost resistance
(3) Density (4) Porosity

9o Fmier % TR & Frafvles ¥ @ s9-w @@ o Rey olawysia T
Tepo ST &7

(1) e (2) -

() wETE @ |t

The intertrappean beds of Deccan Traps are of origin,

(1)  Volcanic (2) Marine

(3) Fluvio-lacustrine (4) Continental

SHp 20 & ST TR Prefafaw § @ 6 ue veR ¥ oo gu ¥ ?
(1) ST SO ) TR s

(3) TWuEdg GW) sa  (4) TeEfn Ak

Which of the following amphibole is characteristic of high pressure - low
temperature metamorphic conditions ?

(1) Homnblende (2) Tremolite

(3) Actinolite (4) Glaucophane

frrfaiad & @ B9—a1 to Pwaw e 79 T8 &9 9T IR FEIEE
qar (Rrgrwar) <@ &7

(1) TS Q) HwET
(3) uhrAmEe (4) T

04_A} 16 [Contd...



50  Which of the following epochs are included in Neogene period ?

1

52

(1) Palaeocene and Eocene
(2) Palaeocene - Eocene and Oligocene
(3) Oligocene - Miocene as Pliocene

(4) Miocene and Pliocene

Frafafas it & & -8 FAiE e o aiuia g °
(1) g e aufeTer

(2) G, SR T T

(3) OTIIA, AT Qd SHfaga

(4) WEE Q& e

Which of the following gemstones would be smallest in size if each weighs
10 carats ?

(1) Diamonds (2) Garnet
(3) Topaz (4) Zircon

frafeflas § 9 S9—91 3 999 BIC AR H1 &, JEip 949 B AR 10
FEHE ?

(1 T (2) MET
(3) IO () Fram

The temperature at which 2 magnetic body completely loses its magnetism
is called —

(1) Curie temperature (2) Blocking temperature

(3) Homogenization temperature (4) Eutectic temperature

% AT Y T U gl 9% oI g e IO @ S g,
HEAR & -

() wgA qeEd (2) AT (BHEe) qahH

(3) EHTTAH TTIwmH (4) T it dTaeRH

04_A] 17 [Contd...




53 The original fossii from which a species is formally described is called .......
(1) Paratype (2) Holotype
(3) Archetype (4) Lactotype
Srq @ q@ @id B Syilar Siae weeE §
(1) o weq (2) 3WIREY [ TH T
(3) bRy (@) AR

34 When K-feldspar is rimmed by sodic plagioclase the texture is known

A5 eeeeese
(1) Rapa kivi (2) Graphic
(3) Ophitic (4) Orbicular

WY H-hHeuk WS, el SiNgEd & IR @ US98, SXETed
FHEATAL & oovvee

(1) sl (2) TR (emmerE)
(3) onfpfem (4) on¥wER (FH=ow)

55 Which of the following minerals is different from others in chemical
composition ?

(1) Coesite (2) Celestite

(3) Stishovite (4) Chalcedony

Frfafag § 9 w0 g@w o @iel ¥ WEte @ Foenar 1
=¥ ?

(1) e (2) UoERe
(3) Regftenge @) «fEesE

04_A] 18 [Contd...
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39

Assume that the relief of displacement for a tower 'A' is 3 mm and the radial
distance from the centre of the photo to the top of the tower is 50 mm. If
the flying altitude is 1350 m. above the base of the tower, find the height
of the tower.

(1) 61 m (2) 56 m

(3) 76m 4) 8lm

e i T ot (BFR) 'A% Soaree faendT 3 mm @ 99 Wie & He |
AT B | aw @ Nl LU 50 mm ¥ | ARy MR F 91 ¥ = & Hug
1350 1. ¥ & AFR & SEE S| HY

(1) 61 . (2) 56 HI.

(3) 76 M. (4) 814

Which of the following is a geostationary satellite 7

(1) Landsat (2) INSAT
(3) IRS (4) SPOT
Prer F ¥ B q-@f TumE ¥ 7

(1) wswe @) TR
(3) S.SMTIE. @) we

Which of the following represents the correctly the Bragg's equation ?

(1) n=2dsin@ (2) nA=2dsinb
(3) 2n=dAsing (4) A=2dsiné
frafafen § 4 s 31 % Tam = g e € 7
(1) n=2dsng (2) nA=2dsind

(3) 2nm=dAsind 4 A=2dsin8

A sandstone bed dipping at an angle of 30° has an outerup width of 20 m
in a flat terrain. What is the true thickness of the bed (in meters) ?

(n 5 ) 10

(3) 20 4 30

UF T TR &l G, e i 30° wd gy R Al 20 AL qure &
i ¥, geE @ weE (. ®) F®&m o ?

(H 3 (2) 10

(3) 20 4 30
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Which of the following is a Devonian marker horizon in the Himalayas ?

(1) Lipak formation (2) Muth Quartzite

(3) Po-formation (4) Syringothyris limestone
frafafeg 3 @ sF-w1 9 o a1 e dwx Raly gy & 7
(1) foe d« T (2) [Y WRSEL

(3) u-¥w T 4y feimaEE T er

In electrical resistivity method used for ground water investigation, a current
is generated in the field of frequency -

(1) less than I cycle per second

(2) less than 5 cycles per second

(3) more than 5 cycles per second

(4) more than 10 cycles per second

I 9 N @ T s o R wiediue il F ara few gy @ saw
& S ¥ ?

(1) 1| =5 95 Qbes ¥ H7 (2) S5 =% wfd %< ¥ &9

(3) 5 F U ke ¥ @Rl (4) 10 O Ui €% @ wE

Which one of the followings is the use of Denterium Oxide in nuclear power
plants ?

(1) as fuel (2) as moderator

(3) a shield (4) as regulator

Frefefeg & @ s-w s s gliay erRee @ At Rea
HEH (Fadr ex) T e g ?

() SsmF e (2) duW® [ HERY % B9 A

(3) %99 /W H B A (4) Trim & By Y

Biplication feature exhibit in animals belonging which one of the followings ?

(1) Brachiopoda (2) Gastropoda

(3) Bivalvia (4) Cephalopoda

Preafoies & 4 @8 ww vy % N § fyaws ooy wm@r €2
(1)  siferzidist (2) T

(3) wwEETveay (4) fatwart
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In which one of the following mountain ranges volcanic rocks are least
common ?

(1) Andes (2) Cascades

(3) Himalayas (4) Sierra Nevadas
Prefriea ¥ & g 05 T a A SETAEET T2 AR W W E 2
(1) diw @) Hahs

(3) TR @) Tauiem

The Lead-Zinc mineralization in Zawar belt is largely confined to which one
of the following rocks ? '

(1) Schist (2) Quartzite

(3) Dolomitic limestone (4) Slate

A & % Sl @hrie 6w Tw Frefalen Tgem T A §
(1) B Q) AR

(3) SAMEles — T AT 4 e

Which one of the following type of Coral reefs, Lakshadweep reef are ?
(1) Fringing reef (2) Barrier reef
(3) Atolls (4) Both (1) and (2)

frafiflag ¥ @ S9-1 v @ o Ma (da), s e
(S ff) & 7

(1) T yam i (2) it fafa
(3) WA B9 W (4) I () " (2)

Which one of the following gemstone is organic in origin ?

(1) Jadite (2) Diamond

G) Jet @) Opal
Frafafaa W § ¥ SM-a1 T% BEtE SEeT ¥ 2
(1) w=Ee Q) @

(3) s (4) i
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68 .In pelecypoda shell, if umbo is curve in such a way that the beak points in
an anterior direction, the umbo are

(1) Opisthogyrate (2) Prosogyrate

(3) Orthogyrate (4) Spirogyrate

TiRrareT Hae EY e 39 TR g1 8 B die o wrT @ Si7 39y B
o, HEAT T ...

(1) onfeeimmr (2) WErTER

(3)  smEET (4) wWEIMET

69  Match the coal field listed in List-1 with their occurrences in states listed

in List-IT :

List-1 List-H

(A) Talchir (i)  Chhattisgarh
(B) Nayveli (ii) Orissa

(C) Umaria (iit) Tamil Nadu

(D) Jhilmili (iv) Madhya Pradesh

(1 (A1), B)-(ii), (C)-(iii), (D)-(iv)
(@) (A, B)-(iid), (C)-(v), (D)-(i)
() A)-(), (B)-(iv), (C)-(1), (D)-(ii)
(@) (A)-(v), B)-(0), (C)-(i), (D)-(iii)
a1 v g1 ¥ forg et & &5 oF ST Tog @ e i

T -1

(A) dER () e
(B) st (i) oS
(C) sHfa (i) g
OIREGILIS (iv) mem wey

(1) (A1), B)-Gi), (C)-(ii), (D)-(v)
@) (A)-(D), B)-(iil), (C)-(iv), (D)~()
(3)  (A)GiD), (B)-(iv), (C)-(D), (D)-(ii)
@) (A)(iv), (B)-(i), (C)-(i), (D)-(iii)
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Main Boundary fault separates rocks belongs to which of the following ?
(1) Upper Vindhyan and Aravalli (2) Siwalik and Aravalh

(3) Siwalik and Tertiary (4) Siwalik and Bundelkhand

ge @ gy Freffen ¥ & e i wE W gue s v 7

() SO Rjwmw wd o (2)  Rewe T e

) Tyafwe wd g meme (4) Rrafwe od g<wws

Malachite and Azurite are characteristics ore minerals of -
(1) Gossan Zone

(2) Zone of oxidation

(3) Zone of supergene enrichment

(4) Protore

ANBRE T4 TogIse oeh @i fpg & ¥ Rifie 3 ¥ ?
(1) e & (2) oTETEl &

) Tadas o sulwta &8 (4) o o

The minerals kyanite exhibit a variation in the bardness from 4.5 to 7,
in different directions. The highest value is found parallel to which of the
following axis ?

(1) C-Axis () B-Axis
(3) A-Axis (4) B and C-Axis

GRS HETET B BT 4.5 § 7 % HeA @ o et ¥ S ¥ )
Riifag ¥ @ #F-9 o1F % gEF=R ¥ SHE! TN AfHEad e 7

(1) C-o1 2) B-oig

G)  A-&& (4) B ud C-o1&
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Which of the following method is used to determine the space lattice structure
of mineral ?

(1) Chemical analysis (2) Spectroscopic method

(3) X-Ray diffraction (4) Scanning electron microscope

tr=itefas & @ few Rty oo wfw @ Biftm swe dvm @ Pk R

Har ® 7
(1) vt Ry 2 wWREte vefr
(3) X-feow faaﬁ-vr (4) w9 e FaaET geTastt

Which one of the following animals is consider as largest terrestrial
carnivorous that has ever lived on the Earth ?

(1) Gorgosaurus (2) Brontosaurus

(3) Tyrannosaurus (4) Ornithotestes

Frfafa & @ FF-m % welle We, 9ol R o 7% I W T Sl
¥ o998 w91 mERry gt /ey S 3 7

(1) "TRmERE (2) wETERE
(3) EEERY (4) enfieidred

Which form of Gastropods has spire that is almost concealed by the last
whorl 7

(1) Fusinus (2) Cypraea
(3) Trochus 4) Conus

st & forw wa F U aftfe R gar 3, <t R siftm st % wr s
U TE G T o sar ¥ ?

(1) Wi @) wElimE
(B) o=ww (4) wrE
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76 From the chemical point of view smithsonite mineral is -

77

78

79

(1} Zinc carbonate (2) oxide of Iron and Zinc
(3) Zinc silicate (4) Hydrous zinc sulphate
Tt ghem™ ¥ feaammge @b © -

(1) Biw B 2) W o Riw awEEs
(3) Riw fufahz (4) TEeEE Nie ahe

Which of the following rocks is a product of contact metamorphism ?

(1) Lamprophyre (2) Charnockite

(3) Granulite (4) Skam

Prefafad & ¥ S9-@ a2F T0 HRITO ¥ T & 7
(1) WEIERR (2) TR

(3) AR @) @

Which one of the following drainage patterns, is typical of a doubly
plunging antiformal terrain ?

(1) Dendritic (2) Trellis

(3) Rectangular (4) Radial
Prataiag § & se-d T oy ¥ e 9 (G@ ) faen sEafe
ATART T AT F v S ¥ 7

(1) gl (2) g

(3) SEARER 4 ortm

Which one of the following is most violent eruption ?

(1) Hawaiian (2) Plinian

(3) Pelean (4) Strombolian

frafafea ¥ ¥ BT T SAETE TGS Jo@ [ 97 & 7
(1) =% @) g

() U (4 wrwe
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Getger - Miiller Counter is commonly used for the exploration of -

(1) Bauxite deposits (2) Pb-Zn deposits

(3) Uranium deposits (4) TIron ore deposits

R e amaad hee wiaee ¥ w1 N o e & 7
() s Hea @) dw-sE Mg

(3) gEm T (4) wiE sgws Tadm

Which formation of Siwalik Supergroup is richest in vertibrate fossils ?

(1) Kamilial (2) Dhok Pathan

(3) Nagri (4) Pinjor

feafee w1 o W, fpw wgE ¥ orafie wovws A e Wy ¥ 7
(1) i (2) wE

3) -l @ TSl

Which one of the following faults will be, if the rake of net slip of an
inclined fault is 90° ?

(1) Strike-slip fault (2) Dip-slip fault
(3) Oblique-slip fault (4) Transcurrent fault

Prafufes oo & & wF-w o Y9 oW, O RS 9w % 9w % e
@A 900 % 7

(1) faer—ador Ha (2) Afa—wduy w9t
(3) Tode—adur g9 (4) CiEmE Y9

In Moh's Scale of hardness, how many minerals are of silicate composition ?

(1) 4 2) 5
@B) 6 4 7
% % HORAT Iam F Rt whrl o dve fafete T oo
(1) 4 2) 5
(3) 6 @ 7
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In which one of the following aquifer the storage coefficient is equal to
specific yield ?

(1) Confined aquifer

(2) Unconfined aquifer

(3) Confined and unconfined aquifer both

(4) Artesian aquifer

Frfifoa & § M-8 o ST (chawr) o fifite (smita) sarmsar @
I NS e B ¥ 7

(1) uREs swyd () ouiEE Y

(3) ufteE ud oUiEs YA A (4) S S

Which one of the following ore minerals show triangular pits under
microscope 7

(1) Sphelerite (2) Magnetite
(3) Galena (4) Pyrrhotite

friifas ¥ ¥ @S-8 1% ormes @t ¥ gerest 49 F TR dE W fan
gss @ ad & 7

() THese (2) WAeES
(3) e (4) TR

Half life of 3Rb is -

(1) 119 x 107 years (2) 50 x 10? years
(3) 14.01 x 107 years (4) 4.468 x 107 years
S7Rb W d ATgEW & —

(1) 11.9 x 10% a9 (2) 50 x 10° 99

(3) 14.01 x 10% o (4 4.468 % 10° T4
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Which of the following represents strike line on the stereographic projection
net 7

(1) Line passing through centre
{2) Point on the circumference
(3) Small circle
(4) Great circle

Frefofem & ¥ #-3 BRm g8y S (oel) W At T fetm e d 2
(1) &= ¥ 9 RS 9 Y@ ¥

(2 uffy ox fegeltf @

3 T

4) eI IR

Shadow zones for direct P —and S — waves lies between -

(1) 102° to 142° for both P - and S — waves

(2) 102°to 180° for P — wave and 102° to 142° for S — waves
(3) 102° to 180° for both P~ and S — waves

(4) 102° to 142° for P — waves and 102° to 180° for S — waves

el 9 - e - g ol B g s @ s e s ¥ 7
(1) 10209 142° T ff - W& wg@ - 900 & fog
(2) 102° 7 180° 91— T F forg T 1020 § 142° Tg - ¢ H g
(3) 102°% 180° T W — wd wy - o ¥ fauw
(4) 1020 9 1420 9 — a0 % T wd 1020 ¥ 180° vy - af ¥ fiw

In case of arch dam the whole or greater part of the load is transferred
to the

(1) Foundation (2) Abutments

(3) Reservoir water column (4) At the toe of dam
g giyg ¥ Siftemay 91 vl @ wel st fewm wmn 2
(1) g 7 ) omed¥e W

(3) wWIYE W W T (4) w9 % IS W
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90 Polymetallic nodules on the ocean floor contain significant amount of

(1) Cu-—Ni-Co (2) Pb-Zn-Ti
(3) Hg—-Mo — Pt (4) U —Th-Nb
o TE T W W A agues fvs ¥ agara § T W ¥ -
(1) Cu-Ni-Co (2) Pb—Zn-Ti
(3) Hg-Mo — Pt (4 U-Th-Nb

91 Which one of the following structures is of Bombay High 7
(1) Doubly-plunging anticline (2) Doubly-plunging syncline
(3) Non plunging anticline (4) Non plunging syncline
g & & F9-8 uH @ G g B ¥ P
(1) fam e eromta @) faen ot afdmfa
(3) ST-SEERE STuT (4) -t S

92  Which of the following is correct for S-type granite ?
(1) They are peraluminous.
(2) They have high Na,O /K,O ratio.
(3) They always contain hornblende.

(4) They are formed from a metabasic source.
frafafiga & & S TE-YBR (@5Y) AMET & def @@ ¥ ?
(1) ¥ wughea &d 2

(2) T Na,0/K,0 aigaa afts san ¢

() T wia wrsts i e ¥

(4) T B BRI S BT )
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Which one of the following is a typical lower Gondwana assemblage ?
(1) Glossopteris, Ptillophyllum, Nilsonia, Bucklandia

(2) Glossopteris, Gangmopteris, Brachyphyllum, Nilsonia

(3) Gangmopteris, Lycopodites, Brachyphyllum, Nilsonia

(4) Vertebraria, Alethopteris, Otozamite, Glossopteris

Frafviea & & - % TRy gye P i @) gaiar & ¢
() vaeHRRE, fmmgan, Pt o

(2) s, TrRliE, sfrerem, Fredita

() WmRfE, TEwEEe, sheegae, Femita

(4) afEsfa, qureRy, sifdnmge, wmeiRie

On the index-to-sheets, the topo sheet 45 B/9 will be to the
of the topo sheet 45 A/12.

(1) North (2) East

(3) West (4) South

e gaw T Zaniie 45 B9, 2l 45 A/12 @1 few Rom & @ ¢
(1) S| @ =

(3) uiem (@) =hm

Churn drill is a type of -

(1) Percussion drilling (2) Rotary drilling

(3) et drilling (4) None of the above
Ha gt ¥ F fhy wer @ que Rify ¥ 2

(1) omam@ de9 (2) g Az

(3) e I (4) SWH ¥ ¥ B &

Which one is the main constituent of gaseous formation of petroleum ?

(1) Methane (2) Ethane

(3) Propane (4) Butane

P ¥ @ o Igfer o T wRael @ ge wew ¥ 7
(1) e (2) 389

() W @ =
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04_A]

Which of the following minerals is most resistant to weathering ?

(1) Quartz (2) Muscovite

(3) Olivine (4) Sodic plagioclase
frafifag & @ w91 whor vy o swemE i ® 2
(1) s (2) W

(3) enfere @) afem g s

In India the superimposed drainage is well-developed in which region ?

(1) Eastern-Ghat (2) Marginal areas of Deccan Traps
(3) Indo-Gangatic Plain (4) In the Thar desert in NW India
aTiE s e, W % few wm § ool Rl ¥ ¢

(1) & ue & (2) FHT U Bl HAT

@) Ry F=m (4) ST ARG § g TE

Which of the following represent lineation ?

(1) Intersection of two sets of cleavages

(2) Parallel arrangement of elongated minerals
(3) Mullions

(4) All the above

B & @ B dEa weiia s ¥ 7

(1) & fee= o SgE &1 oww H wie

(2) WEEBR @rEl B HARL Sl

- (3) Wi EIE

(4) U @

A linear zone of crused rock formed due to intense faulting is called —

(1) Mobile zone (2) Mylonite zone

(3) Hinge zone (4) Zone of saturation

e et & o T ¥ e AR Y A wed
(1) vkt &= ) AR &

(3) W & (4) Wi &
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